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 Question 1: In a study of genetics, a class used a sample of 100 people to obtain the following information.
	
	Male
	Female
	Total

	Color blind (C)
	4
	1
	5

	Not color blind (C')
	40
	55
	95

	Total 
	44
	56
	100


a. What is the probability that a person is color blind, given that the person is a female? 








     (2-Points)

b. Determine whether the events: 
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B:Color Blind , M:Male

are independent or not. Explain?







     (4-Points)

c. 
[image: image2.wmf]Find the probability that a person color blind or female. 

     (2-Points)

 Question 2: In a book store there are five calculators, two of them are defective. One of the departments in the university received two calculators randomly from the store. Let 
[image: image3.wmf]X

 be a random variable represents the number of defective calculators. Determine the distribution of 
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and find its expected value.

 Question 3: A truth serum has the property that 90% of the guilty suspects are properly judged while, of course, 10% of guilty suspects are improperly found innocent. On the other hand, innocent suspects are misjudged 1% of the time. If the suspect was selected from a group of suspects of which only 5% have ever committed a crime, and the serum indicates that he is guilty, what is the probability that he is innocent?

 Question 4: A satellite system consists of 4 components and can function if at least 2 of them are working. If each component independently works with probability 0.8, what is the probability the system will function?
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